Weekly Arithmetic 10 a day w/b 27.4.20
Monday Tuesday
1.12+2+2= 1.3+5+2=
2.10-3= 2. 10+ 5+ 5=
3. 20-9= 3.1+2+3=
4. 18+2= 4.10-5-5=__
5.10+5+5= 5.10+10+5=
6. 16-4-2= 6. 20-3-2=
7. 112-2= 7.5+10+5=
8. 14+5= 8. 5+5+5+5=
2.5+ 11= 9.10-2-2-2=__
_ 10. Remember to explain your

10. Show you working out.

If you had 5 cherry cakes and 5 plain cakes, how
many would you have altogether?
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Do you agree?
Explain your answer.




Wednesday
1. 11-1=

2.24-3=

3. 10-56=

4. 17 - 4=

6. 20-4=

8. 14-3=

9.25-4=

10. Show your working out.

Ola gives some clues about how many Easter eggs she has been given.

My number
has 4 tens.

The ones digit is
< one more than 5.

How many eggs did Ola have?

Thursday
1.8+2+5=

2.9+3+2=

3.5+5+5=

4. 20-2-3=

5. 6+4+5=

6. 7+4+4=

/.3+3+3+3+3=

8.25-5-5=
2.1+9+5=
10. Remember to explain

your answer.

18 children want to eat the hot cross buns.
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Are there enough for everyone? Explain your answer.




